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CBOD.HbIe OaHHbIe
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Vroro
Cem.1| CeMm.2 | Bcero | Cem.3 | Cem.4 | Bcero | Cem.5 | Cem.6 | Bcero | Cem.7 | Cem. 8 | Bcero
Y
TeopeTtuueckoe obydeHve 1 NpakTUKm 14 19 33 14 19 33 14 19 33 14 17 31 130
gk
9 |[3Ok3aMeHaUMOHHble ceccuu 32/6 | 33/6 | 65/6 | 32/6 | 33/6 | 65/6 | 32/6 | 33/6 | 65/6 | 32/6 | 13/6 | 45/6 | 252/6
I MoaroToBka K MpoLeaype 3alumThl U 3alumTa 5 5 5
BbIMYCKHOW KBa/MbMKaLMOHHON paboThl
[ [MoarotoBka K caade n chada roc. sKk3ameHa 2 2 2
K |KaHukynbl 12/6 | 84/6 10 12/6 | 84/6 10 12/6 | 84/6 10 12/6 | 84/6 10 40
% Hepabouve npa3gHuyHble gHM (He BKYas | 12/6 5/6 |21/6 |12/6 5/6 |21/6 |12/6 5/66 |21/6 |12/6 5/6 |21/6 |84/6
BOCKPECEHbS) 8an) | (5on) | (A3 aH) [ BaH) | (5aH) | (A3an) | (Baw) | (Saw) | (13 aH) [ (Ban) | (5aH) | (13 aH) | (52 aH)
MpoaoknTensHOCTb 06y4eHms 6onee 39 Hen. 6onee 39 Hen. 6onee 39 Hep. 6onee 39 Hep.
Utoro 20 | 32 | 52 20 | 2 | 52 20 | 2 | 52 20 | 2 | 52 | 208




